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4) U =mgh = (1)(10)(0.9) = 9.J

o) U =mgh = (1)(10)(0) = 0

z) U =mgh = (1)(10)(-2) =-20J
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U, = mgh, = (2)(10)(3) = 60J
U, = mgh, =(2)(10)(5) =100J

W, =—(U,-U,)=—(100-60)=-40J
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U, =mgh, = (1)(10)3) = 30J
U, =mgh, =1)10)(1)=10J

W, =-U, -U,)=-(10-30)=20/
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U, =0 U, =0
U, =mgh, =(0.2)(10)(4) =8J U, =mgh, =(0.2)(10)(4) =8J
W, =—Uy ~U,)=—(8-0)=-8J W o =—U,-U,)=—(8-0)=-8J
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h=30—x =30-24=6cm sin53=0.6
cosd3=0.8

U, =mgh =(0.2)(10)(0.06) =0.12.J

U, =0

w,.=-U:-U,)=—(0-0.12)=0.12J
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(\) W =Fdcosé
(Y) W =K,-K,
(Y) W =mgh




395 oo 0308 (05 53y LOM sl 4y s o ot 3 F o555 by (sl s o5 S5 5 0 JUi

S o [ F g9, ol

W =IFdcosf = s

W =(30)(10)cos 60 =150J
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